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QUESTION 1

Which option in the /etc/ntp.conf file specifies an external NTP source to be queried for time information? (Specify ONLY
the option without any values or parameters.)

A. server

Correct Answer: A

QUESTION 2

Why should an NTP client maintain connections to several NTP servers?

A. To receive NTP information every second as each server transmits NTP pings every five seconds only.
B. To improve the precision of the time by comparing responses from several servers.

C. To not overload the remote server in case the local NTP time cache is not enabled.

D. To not lose contact with all NTP servers in case the client changes networks.

Correct Answer: B

QUESTION 3

Which of the following are commonly used Mail Transfer Agent (MTA) applications? (Choose THREE correct answers.)
A. Postfix

B. Procmail

C. Sendmail

D. Exim

E. SMTPd

Correct Answer: ACD

QUESTION 4
What of the following can be done by the command ifconfig? (Choose TWO correct answers.)
A. Set a network interface active or inactive.

B. Specify the kernel module to be used with a network interface.
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C. Allow regular users to change the network configuration of a network interface.
D. Change the netmask used on a network interface.
E. Specify which network services are available on a network interface.

Correct Answer: AD

QUESTION 5

Which file contains the date of the last change of a user\\'s password?
A. /etc/gshadow

B. /etc/passwd

C. letc/pwdlog

D. /etc/shadow

E. /var/log/shadow

Correct Answer: D

QUESTION 6

What word is missing from the following SQL statement?
count(*) from tablename;

(Please specify the missing word using lower-case letters only.)

A. select

Correct Answer: A

QUESTION 7

What is true regarding the command userdel --force --remove bob? (Choose TWO correct answers.)
A. The user bob is removed from the system\\'s user database.

B. The user bob\\'s home directory is removed.

C. The locate database is updated to drop files owned by bob.

D. All files owned by bob are remove from all mounted filesystems.

E. In case bob was the last member of a group, that group is deleted.
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Correct Answer: AB

QUESTION 8

Which of the following programs can be used to determine the routing path to a given destination?
A. dig

B. netstat

C. ping

D. route

E. traceroute

Correct Answer: E

QUESTION 9

Given the following line from /etc/nsswitch.conf:

hosts: files mdns4_minimal [NOTFOUND-=return] dns mdns4

By default, which file will be queried first for hostname lookups? (Specify the full name of the file, including path.)
A. letc/hosts

Correct Answer: A

QUESTION 10
What is the lowest numbered unprivileged TCP port? (Specify the number in digits only.)
A. 1024

Correct Answer: A

QUESTION 11

Given the following routing table:
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Kernel IP routing table

Destination Gateway Genmask Flags Metric Ref
0.0.0.0 192.168.178.1 0.0.0.0 UG 0 0
192.168.1.0 0.0.0.0 255.255.255. 0 U 0 0
192.168.2.0 1921681 41 255.255.255.0 U 0 0
182.168.178.0 0.0.0.0 255.255.255.0 U 9 0

How would an outgoing packet to the destination 192.168.2.150 be handled?
A. It would be passed to the default router 192.168.178.1 on wlan0.

B. It would be directly transmitted on the device ethO.

C. It would be passed to the default router 255.255.255.0 on ethO.

D. It would be directly transmitted on the device wlanO.

E. It would be passed to the router 192.168.1.1 on ethO.

Correct Answer: E

QUESTION 12
Why is the correct configuration of a system\\'s time zone important?

A. Because the conversion of Unix timestamps to local time relies on the time zone configuration.

Use

o il o il

Iface
wlan0
eth(
ethO
wlan0

B. Because the time zone is saved as part of the modification times of files and cannot be changed after a file is

created.

C. Because the environment variables LANG and LC_MESSAGES are, by default, set according to the time zone.

D. Because NTP chooses servers nearby based on the configured time zone.

Correct Answer: A

QUESTION 13

With syslog, what is a facility?

A. Facilities are different connection interfaces to syslog. Each facility has its own device in /dev/syslog/.
B. From syslog\\'s point of view, each Unix process that issues messages is a facility.

C. Facilities describe the severity of a log message such as emerg or info.

D. When using remote logging, the hostname of the server that generated a message is called facility.
E. Facilities describe categories or groups of messages such as mail or auth.

Correct Answer: E
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QUESTION 14

Which of the following details is NOT provided in any output from the netstat utility?
A. broadcast services

B. interface statistics

C. masquerading connections

D. network connections

E. routing tables

Correct Answer: A

QUESTION 15

When the command echo $ outputs 1, which of the following statements is true?
A. It is the process ID of the echo command.

B. It is the process ID of the current shell.

C. It is the exit value of the command executed immediately before echo.

D. It is the exit value of the echo command.

Correct Answer: C
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